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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 et iep=—=1 gaTT IOT =
faw e ¥, LA 2 ¢ T I Question ID : 9864494012
Tmage Status : Answered
Chosen Option : 3
Options

A B C D
From the options given, select the rotated version of the following image.

Image

Options

A B E D
Ans ?{'1.(:

X 2B

v'3D

X4 A

2 g & W:&-‘IT%‘I ) éﬁl‘g“( %’: Question D : 9864493065

. . . Status : Answered
The SI unit of resistance is: ,
Chosen Option : 3
Ans ol

Ko
Coulomb

=Ocd
Ko ®
Newton

3
Ohm

W 3



T
Xa "
Joule

Q3 FFRIcAS =0T T T # ¥ raer & foer & f9da gar &7

Ans

Negative acceleration is in the opposite direction of:

«.1.a?|'

velocity

distance

Question ID : 9864493580
Status : Answered
Chosen Option : 1

Q.4

Ans

1kWh =72

K 1.36%x107°]
X 236x10%]
K 336%X107¢]
v 4 3.6x10°]

Question ID : 9864493521
Status : Answered
Chosen Option : 3

Q.5

HFeen TEHT & FRiE of 7 fAraad § ¥ Fi ar dfew 9 82
Which of the following is the last element in Newlands Law of Octaves classification?

Question ID : 9864493353
Status : Not Attempted and

Ans m Marked For Review
x 1. Chosen Option : --
Radium
X2 G
Iron
v s :
Thorium
X4
Rhodium
Q.6 s JEfE HY & TOA (FE 2018 & HJEN) IeUET T g2

Ans

Who is the current (as of February 2018) President of the Indian Olympic Association?
X1 st T
Abhinav Bindra
TR
Narinder Dhruv Batra
3. WE TR
Sharad Pawar
, I T
Prannoy Roy

v

x

Question ID : 9864492330

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.7

fafof@a # 9 #ia & ve PR ser @
Which of the following is not a Triangular number?

Question ID : 9864492623
Status : Marked For Review
Chosen Option :1




Ans x1_ 3
V215
<310
X a5

Q8 gy Y sehfeier st # e W #ia o 3w et 22
Which gas is released when water is added to bleaching powder?

Ans HTeFgTAT
Ko

Oxygen

FarlT

Chlorine

RESED

.Hydrogen
x4 FTaT IS HFATSS

Carbon dioxide

v 2

K3

Question ID : 9864493550
Status : Answered
Chosen Option :1

O R I T T

Which of the following is true?
Al ; 29 43
ns ( 1 =2 } -2
6 12
29 43
K=< =
6 12
29 53
3. —= —
6 12
29 43
Xa2_n
6 12

Question ID : 9864492482
Status : Answered
Chosen Option : 1

Q.10 Ar=Affad Awer #, = [ (7) @ @ 1w 9g s ¢ 1 e
T fashe @ ST 9g 9 H

ST, TU,UV,VW,?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.

ST, TU, UV, VW, ?

ans o L WX
X2 WV
X5 WY
X« WZ

Question ID : 9864494171
Status : Answered
Chosen Option :1

QM o, 3 3T %W & @ v e F Al TGN T F FF F A9 e,
I F S 07 3R A9 37 e gaml Il H fraar sr ured gam?

Tapas. Avi and Rishi shared a cake. Tapas had % of it, Rishi had § of it and Avi had the
rest. What was Avi’s share of the cake?

2
P -
6

Ans

1

Fo =

< 3.

il W O

Question ID : 9864492641
Status : Answered
Chosen Option : 2




3
p
6

Q12 frzy 2 3 P TET 1 A T SR T g
‘Which of the following numbers will have an irrational square root?
ans X'1.1024
v 22048
X 3 2401
X 4 4096

Question ID :

Status
Chosen Option

9864492843

:Marked For Review
12

Q.13 37 yome A ST & e s e
Asexual reproduction differs from sexual reproduction in that in asexual reproduction,

Ans " GIH o ! HT Hord BT ¢ |

the nuclei of gametes fuse
Itelel A JIAF ST g & |

the gametes are produced in reproduction

v &)
AT ST eIk ATT-Rar F FAT T 2

the new organisms are genetically identical to the parent
x4 For fafareransit & gaTar g

the offspring shows variations

K2

Question ID
Status

Chosen Option :

19864493138
:Not Attempted and

Marked For Review

Q14 w1 Al & FHg & [T Fal 39gFd A6 gl

Q@b

Select the most appropriate term for the following set of items.

QU

K=

Books
R

X2 e
Marriage

3

. Celebration

e ]
K 4
Meeting

An

Question ID :

9864494232

Status : Answered

Chosen Option :

3

Q.15 9 5% aTf¥er WURTT =TT 9T HIS TRr6 a¥ 3 2 942 @ T &1 3/ eT & forar
a7 e o= ar?

At 9.5% simple interest per annum a sum of money became ¥ 942 in 6 years. The sum
initially invested was:

Ans 1. 675

Question ID : 9864493008
Status : Answered

Chosen Option :2




X?- 3 626
v 3 3600
X 4 %650

Q1 =1 WS F WIadE FITET &
The reflector of a search light is a:
Ans
1 JeIATHRIT 0T
cylindrical mirror
X2 SeaTel ZYT
convex mirror
Vs E ;
concave mirror
, T aquT

plane mirror

x

Question ID : 9864493583
Status : Answered
Chosen Option : 2

Q17 Yafeer & Ars@ o r Read T I g, 3 # 9T AT R
Nodes of Ranvier are microscopic gaps found within:
Ans FlegleoTied
Ko -
chondroblasts
x 2 DIDEAIREa k)
gland cells
e 3eaTey
X3 seive
osteoblasts

" Arafesga v

myelinated axons

Question ID : 9864493135

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.18 37T 3 HfF=mer & FAer 710,000 3 ¥ 15,000 & e & AT @EEN %
T, AfeheT AT AT & FRUT, ST & 8 AES dI 39T fad9r ar9w o
o= Tee anE A & AT A 7 e sead 7 aier st @ifge?

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000,
respectively but due to a financial emergency the latter had to withdraw his investment
after 8 months. In what ratio should the profit of the first twelve months be shared among

the duo?
Ans X'1.2:3
v21:1
K33:2
Xa1:2

Question ID : 9864492905
Status : Answered
Chosen Option :2

Q.19 Tr=fafle # & e H#f@fm gamn s=2 wfafkr arh gt &1 Seeme
grar &2

By which of the following processes are metals of high reactivity extracted from purified
molten ore?

x 39Fd Toie AN HTEa

1.
Reduction by an appropriate reducing agent
AfEear
Roasting

Ans

K2

Question ID : 9864493432
Status : Answered
Chosen Option : 3




CEEHIEIEE

Electrolysis

X 4 ST

Calcination

" £

Q.20 37 f@weT & Taa Y off dE BT ¥ 3407 g Je9ed § 59 g gau B _ .
ggor e & et & Question ID : 9864494154
Status : Answered

B W
((_‘%{,‘? g:? Chosen Option : 4

Select the option that is related to the third figure in the same way as the second figure is
related to the first figure

e g
((_\»/Q\)J "l:: :?
Ans ﬂ 7

X1 \Jvf

Q.21 gr 3t & 99 TEA AT AT S 30F 30l & UGS H AT AT )
Find a two digit number which is exactly three times the product of its digits?

Question ID : 9864492444

Status : Answered
Ans X 1.12 Chosen Option : 3

X 2 48
v 24
< 436

Q.22 wr=ir ESREaGH T ‘FeTRIaT EVEED Ao
. %_?2018 ® £ &= il = Question ID : 9864492149

. ] Status : Answered
As of February 2018, who owns the Kolkata-based IPL team ‘Kolkata Knight Riders’?

Chosen Option : 4

Ans

gad T
P S
Subrata Roy

, HAT @
Aamir Khan

3.
Sourav Ganguly
. AMETE Wl

4
Shah Rukh Khan

x

x

Q.23
Question ID : 9864493755

Status : Answered
Chosen Option : 4




u T g2 eamde 96 AR Fand fF SO s & ¥ foe Reefataa
Feell 7 § P =

FT X - 5 TH TEAT g7 X U adide §Em &

YA
1. X -15 ©&F qufie &
2. X -10 us faws quiie §

Consider the given question and decide which of the following statements 1s/are sufficient
to answer the question.

Is X — 5 even? X is a real number.

Statements:

1. X — 15 belongs to integer
2. X -101s an odd integer

Ans x1_
Fad FAT 1 YT § A shael HAd 2 FIAT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
X 2 gt w1 3T Foea 2 9deg 67 &

Neither statement 1 nor 2 1s sufficient

W 3
Fael dUd 2 G ¢ SAdfh el o0 1 FUACT &

Statement 2 alone is sufficient while statement 1 alone is ihsufficient
X 4 Fod 1 3R Fud 2 gt 9T g

Both statements 1 and 2 are sufficient

Q.24 forw Wil Fe & Aran ¥ aid A Tferaw & a7 Tt 7 fenea
B o 37
By which legislation were India and Pakistan divided into two independent nations?

Ans QI EaT e s 1947 —

Question ID : 9864492091
Status : Answered

r 0
Pakistan Partition Act 1947

, AT s wfaf@as 1947
Indian Partition Act 1947

s nifreae Tavar sfRfEas 1947
Pakistan Independence Act 1947

v AR TEaIar FfRfaTE 1947
Indian Independence Act 1947

x

Q.25 &2 arw Fuet @l @ At 3ily ol Sifcie & @l ar @) s o & Lo [ SV R
&1 I AT I dIfeheh T ¥ 3T HLT § (F ¢)1 uestion 12

Status : Answered
Y- Chosen Option : 1

HETIN] FT FAGEAT FHcaTdeh d¢ 1§ ¢ ooy g alidgeh €1 $1 Al gr
It % Sffed TR & TR 3 Wl

oS
1. TEHR I g [@hrE & qeriierar selret aige)
2. TER &I 34 SARGT F @R &1 Aigw SN oelt & foe sie A
A IR
Consider the given statement true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:
The population in metro cities is increasing tremendously which leads to the shortage of
living space and a drop in living conditions of the people.

Conclusions:
1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.



Ans

1#Hﬁﬁh$&2aﬁﬁnwmﬁﬂ%|
Only conclusion 2 follows.

2%@ﬁﬁ%$ﬁ13ﬂﬁ@T$ﬁﬂ%l

Only conclusion 1 follows.

3_u—rra’H 3R 7 &1 2 e HLT B

x
v

x

Neither conclusion 1 nor 2 follows.
, T 1 3T 2 QT 1T A

Both conclusions 1 and 2 follow.

x

Q.26

fo=fafa & & #ia 15376 &1 T 2
‘Which of the numbers given below is the square root of 153762

Question ID : 9864492803
Status : Answered
Chosen Option : 1

Ans  of 1124
X 2134
X 3122
X 4128
Q.27 TRl qior &Y o9 H R 1w o & Hnr difdeT @ S §, o 309 gaen

Ans

T gdvr sfs &1 Tus few?

HEALTHY

Select the option that depicts the correct mirror image of the given word when the mirror
1s placed horizontally below the word.

HEALTHY
X*YHTLAEH
X2YHTLA3H
X*YHTJA3IH
viHEVILHA

Question ID : 9864494163
Status : Answered
Chosen Option : 3

Q.28

Ans

T aw Fre W AR F 3 a7 Y &F G 90 s A ¥ Sla-ane
Foe H Jedieiied ool

FU:
JTETIRT T PR F AT o=l AIETI

AT
(1) PHIRIET eATIH! & AW T AHARS T § |
(1) rimeTd TT F6E T B

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:

(I)  Workshop updates teachers.
(II)  Workshops kill time.

1 Faer A () Hfea & |
| Only assumption (IT) 15 implicit.

Question ID : 9864494344
Status : Answered
Chosen Option : 4




3t (1) 3R (1) g & @fed @

Both assumptions (I) and (IT) are implicit.

a1 s (1) e (1) e ¥
Nerther assumption (I) nor (IT) 18 implicit.

| et s (1) @fed &

Only assumption (I) is implicit.

52

x

v

Q29 77 s oftwy & F% SRy smEET H 3 gT A §, O FE F AR

‘When a number of resistors are connected in series in a circuit, the value of current:
Ans g\ﬁ_"-
r ! *A ¢
decreases
V2 UF & EaT &
remains the same
x 5, Fdl &
increases
X 4 3T g AT §
becomes half

Question ID : 9864493186
Status : Answered
Chosen Option : 2

Q.30 weh Secor Z9vT, Forer Biever saTs £(F G M) &, H H AT (p = 4/3) & gara ST
F1 59 3 U7 Y Blekel =TS FAT 2RI

A convex mirror of focal length f (in air) is immersed in a liquid (u = 4/3). The focal
length of the mirror in liquid will be:

Ans 1. (7/3)f

vof
X3 (4/3)f
X 4 (3/Df

Question ID : 9864493144

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.31 37 3eat-AFf (Answer Figure) FT I FT 3T &1 T8 WA-HHT (Problem
Figure) & e T & fare swaea g

Question ID : 9864494058
Status : Answered
Chosen Option : 3

Answer Figures

oo [x]

A B C D
Select the Answer Figure that fits in the blank space in the given Problem Figure.
Problem Figure
Ay
el
o |0-| 2

Answer Figures

e 6]

A B C D

Ans x1_c
X2D
v A




X 4+B

432 (NH,),S0, % e 30T & faer T g 82

Ans

How many atoms are present in a (NH4)>SO4 molecule?

K114
K212
V315
X413

Question ID : 9864493588
Status : Answered

Chosen Option

12

Q.33 fy sgae 3t Aftae & & a7 2 &, & Aftae Ak A & d i I

Ans

Hifew| RrrHER

If the difference between the mode and median is 2, then the difference between the
median and mean is: (in the given order)

v
K22
X34
X43

Question ID
Status

Chosen Option :

19864492477
:Not Attempted and

Marked For Review

Q.34 & 710 T 9 R w AR T R & 9 gt 7 8§ S

Ans

T F eaEted BEl

YA

FUIEHE THITTE garT Y Rl TR Fae0 ARG, 39+ AT Hl AD G,
FlEae &l sue Hariet & samer gidin ag e arln

TAUROM:

1. vl QO 39 391EAT S G A8 1@ igd1
2. TEfvE AR 7 3w Wl

Consider the given argument and decide which of the given assumptions 1s/are mmplicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat®, keep your cities clean, started by the apartment
association didn’t bring much response from 1ts residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign

v Fad qaurRoT 2 dafafed g
.Dnly assumption 2 1s implicit.
[T a1 S @ 2 siaffed &

Neither 1 nor 2 1s implicit.

| 131 2 gl et siaffed 8
Both 1 and 2 are implicit.

. hael IHUROT 1 3idfifed gl

Only assumption 1 1s implicit.

x

x

x

Question ID
Status
Chosen Option

19864494045
:Marked For Review
13

Q.35

Ans

T HT HF U & T F O AT A 87

Momentum is measured as the product of :

Question ID : 9864493179
Status : Answered

Chosen Option :1




| Gem 3R A
Mass and velocity

X o ST 3 @t
Mass and force

x 5, G 3T Stsar
Mass and inertia

X 4 AT 3T Tagor

Mass and acceleration

v

Q.36

BT T R Rk T T A s s e = da
FeT T FueT ST B

F9IT ABC & fhr Sdr @

EEH

1. F9 ABC & 75,000 F1g T 70/- Wiy =797 & fewma & &)
2. 3 % &9 H ABC ¥ U HE IR 3cUE AET

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at T 70/-.
2. ABC has no other products in the production line.

1.

Sﬁ?gmaﬁ#ﬁvmlmm%, FafF FUT2 35 qATT T8
2
1 alone is sufficient while 2 alone is not sufficient to answer the question.

X2
3T S99 3 % AT FUa 2 A 9HTT g, Fafh HUA 1 Aol TATST @
gl
2 alone is sufficient while 1 alone is not sufficient to answer the question.

X3
3R 9w & F T 7 A FuT 1T &2 94T

Neither 1 nor 2 is sufficient to answer the question.

v o
Fua 1 322 & 3RT s9w & ¥ v g EL

Both 1 and 2 are sufficient to answer the question.

Question ID : 9864494327
Status : Answered
Chosen Option : 1

Q.37

& THIATIT E TS s TaE F OwE #i g, S aoAT #
Ferg safer et ams & fow g e §0

‘Who is the author of the book *The Association of Small Bombs®, which is currently
shortlisted for the International Dublin Literary Award?

o, T A
Namitha Ghokhale
X2 eufa T
Arundhathi Roy
Fld Hglld
’ Karan Mahajan

Question ID : 9864492322
Status : Not Answered
Chosen Option : --




. TdeT T
v
Chetan Bhagat

Q.38 7 1600 i TFEr W 6 AT Fr 3E@W F v, 5% ¥ AW a7 W 35T
7= fepaar gEm?

The mterest earned on T 1,600 at the rate of 5% simple interest per annum for 6 years
would be:

Ans 1. T 496
v'2 %480
2 3.%450
x 4% 2,080

Question ID : 9864492867
Status : Answered
Chosen Option : 2

Q.39 fiFa v F wow 39geEa fameT o |

F o Fedt ol & R s sufte AE A ¥ Y TIE ¥ wafoe
g

Fill in the blank with the most appropriate option.

Plants that do not have a differentiated plant body belong to the group .

Ans x1_ﬂmﬂﬂm

Phanerogams

Pteridophyta
: E

Bryophyta
v - E

Thallophyta

K2

p

Question ID : 9864493477

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q40 gfF 9x6=457Tx4=33 3T 6x4 =20 ¢ ar

5% 3 ol Al fehaal gham?
If9x6=45 7x4=33 and 6 % 4 = 20, then what is the value of 5 = 37

Ans 9 1. 24
v'2 16
<313
< 410

Question ID : 9864494348
Status : Answered
Chosen Option : 2

Q.41 13 Atex sl v T U (WS o g &, S HgE ok TR H ST
12 FAieY W ¥ A 3 9IE F 36 g W @A g W F F5F F g@l
3T & oFmE AT A Ag WEH a5 Ale TS o Ugel 8| S &
= A Frew?

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

Ans ?("1. 14;13'?1
14m
16 HeT
16 m
15 Hrex
15m
17 Hrex
17m

X2

X3

v

Question ID : 9864492458
Status : Answered
Chosen Option : 4




Q.42 Tefof@a & ¥ W 309g & 759 & 3 @9 & INumEEwT, 5 30mEr &
Ao # gy gl Brwer aiome gaehfa gem

An increase in price of which of these products will have a ripple effect in increasing the
prices of many products, thereby resulting in inflation?

Ans =)

x 1 garsar
Medicines
== v
Smartphones

Vs :

Petroleum

X 4 HTSTHETS

Automobiles

X2

Question ID : 9864492338
Status : Answered
Chosen Option : 3

Q.43 v {@mEr 90 fraleer wfd o ff o & Ue 100 AreY F g H U
& T 10 & 1 T AT §1 oA HT oEE Hiel 7 AT

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the
length of the train in metres.

ans X 1140
V2150
X 2130
X120

Question ID : 9864492590
Status : Answered
Chosen Option : 2

Q.44 40 s 9 Fr v arg aifos fem F soFde v des & v @ w7
@ &1 sEh i 10 Aex 9 9 O o= ¥ e sae S T s
Trder grem?

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10
m/s, the amount of net work required to be done on this object is:

Ans 75 ST
r 0 o~

757

- 150 FHeT

W2 ~

1507

50 AT
L.

507
100 S

K 3.

X4
100 7T

Question ID : 9864493241

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.45 3@ ¥ 91 W ae, fae Afgrey ¥ ST F30 @ i Wel gger Aifde
g, fawe & 3G & 2 ¢ v a9 A o e # qaAe g 4w g

Seven years from now Virat will be twice as old as Mohinder. Five years ago Mohinder’s
age was one year less thang of Virat’s age. What is Virat’s present age?

Ans
x 1 51 I9

51 years

55 99

55 years

x 53 g
53 years

x5 57 EL)
57 years

v

Question ID : 9864492932
Status : Answered
Chosen Option : 1




Q.46 wralr 2018 F F9erEY AFNT & FFEN, TUARA H M Fomgwr Ihwg
(Ffromged) F e FHa 372

Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 20187

Ans 1 HAH A
.Amartya Sen

ASTAT gIJer
2.
Najma Heptulla
B CCCo-cric)
W 3
Bibek Debroy

x4 HAT &=
Amit Mitra

x

Question ID : 9864492385
Status : Not Answered
Chosen Option : --

Q47 QAT & T #i O7 375 oy Jite st & sufya farg
‘Which of the following acids is present in Red Ants?

Ans " FITHR HFoT

Question ID : 9864493129
Status : Answered
Chosen Option : 1

Formic acid

X2 Afor 37T
Malic acid

X3 CACC =1
Tannic acid

X 4 Tt Toreh 3+l
Oxalic acid

Q48 A .

E

FRIFT ged H, TI9 AB F FIINGT DE ¥ D fig X Faw & agmr Swr
%1 3f¢ AB = 12 cm 3T DE = 8 cm @, df BD & wi@s T Hil

A B
D

E

In the circle above. chord AB is extended to meet the tangent DE at D. If AB = 12 cm and
DE = 8 cm. find the length of BD.

Ans x 1 6 et
6 cm
. W6 HErART
46 cm
n(s.4 HETHTET
4 cm
x 4 D HETHAT

5 cm

x

Question ID : 9864492996
Status : Answered
Chosen Option : 4

Q49 37 org & 71F FAW S FEET ¥ qAF T FET A FHAT ¢
Name the metal that can be easily cut with a knife:

Ans

Question ID : 9864493191
Status : Answered
Chosen Option :1




K4 2

Aluminium

Q.50 T TEH T TR FI GER, 2T AHF UF ASHl F Fgl, "SHH AT A

ATATSAT BT Shellcl 9¢T §, T 3P Fdel Th 90T ¢ I Pis S Tar 51" 2w
e FT o ¥ FY TEET 82

Looking at the portrait of a girl. Sheesha a girl, said, “Her mother is my grandfather’s
only daughter who has only one daughter and no sons™. How 1s Sheesha related to the girl
in the portrait?

Question ID : 9864494166
Status : Answered
Chosen Option : 1

Ans v TR Fr s gg e g
1.
Sheesha 1s the girl in the portrait
X 2 HISH/ AT
Niece
: dgel
X s
Sister
x4 arEr /A /FHT G AR /A (Aunt)
Aunt
Q.51 RBw arv yeet 9¥ fAar 1 3R vl & & 99 &1 ek & & P st A @ .
Fher T Pt i ¥ Question ID : 9864494153
Status : Answered
AT T, 1 AT FL1 TG ¢ ? Chosen Option : 1
a=g
1. To[ o ART & A.9REH, ool U9 Gfaror, W Fiar &7 el féhem gl
2. TSl T IO Sl F | e dgd 9 B
Consider the given question and decide which of the following statements is sufficient to
answer the question.
Is Raju fond of travelling?
Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be in the company of s friends.
Ans ( 1.

95T &l 3coi ol & ToT, a1 sheel GG § G G 2 el SATST oTgl
l

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

<2
TReT & 3ca &l o ToIT, Gl are Ue Al TRied §, g At gr ae
3pel JATCT T £

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X3
aEFg 1 g 2 I, T 787 § AR 92 1 3ca¥ & & o wfafEa
SR T IFRTRAT ¢

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
question.

X 4




TReT FT 3cc ol & folT, AT 2 e T § TR a1 adel ST d6r
dl

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Q.52 AT 2018 H ITERY FFHN & FTAN FomgEe dF & vAd A didat FiT

Ans

&

Who is the MD and CEO of Allahabad Bank as of March 20187

x 1 for@r erAT
Shikha Sharma

Usha Ananthasubramanian
X4 ‘ :

Arundhathi Bhattacharya

Question ID : 9864492434
Status : Answered
Chosen Option : 3

Q.53 few av yeT W AR & 3R a@ w F F=fofa &= § @ #a-ar w2

Ans

TR H Ieal & & foIw e
X ¥R Y & FlT § |R T+ &2

FYe:
1. X o 370 o7 3iifEe= R O
2. Y F FO W RS geeier femr am

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?
Statements:

1. X had given more dance auditions.
2. Y had given more stage performances.

r !
ddFUT 1 3 7 FUA 2 GAOT ¥

Neither statement 1 nor 2 1s sufficient
2
FHA FUT 2 GACT §, Fah FUT 1 Hher HUATT &

Statement 2 alone is sufficient while statement 1 alone is insufficient

p S
3hel HYT 1 TAICT § Fdih HUT 2 37hol JIATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

x4_aaﬂ?r13ﬂ'\r2a?|"rw‘rt?r%‘

Both statement 1 and 2 are sufficient

Question ID : 9864493870
Status : Answered
Chosen Option : 2

Q54 Grafaf@a fAeedr 7 & d&fda s AET &1 93T H

Ans

9 : g4l o

Select the related word pair from the following options.

Goose - Geese -

Question ID : 9864494014
Status : Answered
Chosen Option :1




e St
Pant : Pants
FHMAT : FHT
Shirts - Shart
HIGAT : Al
Socks : Sock
SiehT. : Siehe
Jacket - Jacket

v

X2

X3

K4

Q55 ABC$+#DEF&=?GHI'2+@
FR T I &3I4 F Trell TAT 5
ABC :@=2 :$#E
ABCS+H#DEF&="GHI!2*@
Find the missing term using the above sequence:
ABC: @*2:S$#E: .

Ans X 1. 2H!
v 2 1H?
X 3 HH!
X 4 HG

Question ID : 9864493859
Status : Answered
Chosen Option : 2

Q.56 gag X 3R Y vF uk # vw @y # AR 99 @ §1 99 & oF gE @ e
g8 Y Fr o @ X F FEe wsa § X e T & g w me

In the morning X and Y are walking towards each other in a park. When they meet each
other, Y’s shadow falls straight in front of X. In which direction was X facing?

Ans m
r 0
West

Question ID : 9864493833
Status : Answered
Chosen Option : 1

Q.57 famft wam # 9 o AN Fo oW § FE e & ot & W @ site
12 & 3y orrelt & rert @ staa 14 3 30 T o % g wrede an
st 13.1 g & @eaT & o o B wEAr a4 ofr?

In a class, there were 9 boys and some girls. In a test the mean score obtained by the boys

was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?

Question ID : 9864492838
Status : Answered
Chosen Option : 1

Ans x 1. 21
X219
X322
v 4 20

Q.58

Question ID : 9864493883
Status : Answered




Ans

formfafea sy & fraer P deg 2

How many triangles are present in the following figure?

X113
V212
X311
X< 410

Chosen Option :2

O =T W FT T UF AWEE  ?

Ans

Which of the following is a Saprotroph?
hedl
r 0

Pigeon

I
xe Algae

Question ID : 9864493396
Status : Not Answered
Chosen Option : --

Q.60 wer e gt i et Et A, B 3t ¢ & ATeas & 10 o 7 s/ srar &1 v C E
B ¥ a1 & At Tt B T A TN A= &) A qm A T A & @

3o 3T F Toraen gET o

A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the

swimming pool?
40 T

| 40 hours
80 T

| 80 hours
00 T

| 90 hours
70 T

| 70 hours

Question ID : 9864492572
Status : Answered
Chosen Option : 3

Q.61

Question ID : 9864493287




Ans

Us TTAN] F FOgial S 5 fhes auet @ B

The number of nevtrons in an atom is equal to the:

Status : Answered
Chosen Option : 4

x1_qmwgm

Atomic number

x ,, FETH =T
Mass number

x5 Solerglall =l HEAT
Number of electrons

v T TEAT - TLATILHT S TE&dT

Mass number — atomic number

Q.62 T dagedita g 1 3, o MR i e seh FaE i o foaeR
T, TF T F AT § e §1 o0 $r Fear i e S Eear o
Fara foraa 82
The volume of a right circular cone, whose radius of the base is same as one-third of its

altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:

Ans

Question ID : 9864492995
Status : Answered
Chosen Option : 1

<111

v23y4:33
?(3.3\[@ -2
L/

A8 iy T=Ter e gL F g g
Pir Panjal Railway Tunnel is located in .

Ans

Question ID : 9864492102
Status : Not Answered
Chosen Option : --

- HAFH-h?
,, TR
Jammu and Kashmir

xz_’i%masrq'aar

Himachal Pradesh

X3 EIxsEAEEE]
Uttarakhand

faEsA
Sikkim

K4

Q.64 faret dor 7 wer A ey T el A vt & e e 3l 9 5w
44 w1 3 & & Aoy et Fr FEwr 36 M T Aer FaF H F@EAw 54 8 A
der & wrer dEt Fr wEr e gl
The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red
balls, the number of blue balls was 36. If the number of blue balls is 54, how many red

Question ID : 9864492825
Status : Answered
Chosen Option : 3

balls will be in the bag?
Ans x 1. 62
< 2 68
NN
X 4 64
Q.65

Question ID : 9864494059
Status : Answered
Chosen Option : 3




30 WFHT H TIT H A Frifeg g F JetadT 78 g

© |4 (0]

A B CcC D
Select the figure that does NOT belong in the following group.

0 [<>|A[0]
CcC D
Ans x1_C
X2D
K3 A
v:+B

Q.66 Rearae 39=arH 'h HAH I S T & JEF HiT g7
‘Who is the author of the speculative fiction book ‘Half of What I Say’?

we v Ao

Question ID : 9864492251
Status : Not Answered

Chosen Option : --

v
Anil Menon
X2 *. HX. AT
E.R. Meera
X3 AT Iaer
Namita Gokhale
orfer oU%T
Shashi Tharoor

X 4

Q.67 tigedla ol aiiad Wil 7, dedl & 1ol &l I d D A FTHIT HT
S g

In Mendeleev’s periodic table, the properties of the elements are considered a periodic
function of their:

Ans " TRA] BT
Atomic number
B ICRICIUERER]
Ionization enthalpy
x5, IRH & HBR
Atomic size
v ULHIU] o HIT

Atomic mass

x

Question ID : 9864493174
Status : Answered
Chosen Option : 2

Q.68 Ry 71T Frgat & g F Few F TR 3R e F TTT

mey oo

Select the most appropriate term for the given set of items.

meY o Lo

An

Question ID : 9864494157
Status : Answered
Chosen Option : 2




Vs
Technology
X4 3

Culture

Q.69 37 & & ¥ 7, T F FY, T H AG F A F S T FH en
31 G T T AT AT 61 a¥ §| u H a9y Gt 2

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The
sum of their present ages is 61 years. What is Dharitri’s present age?

Ans
X1 43 I
43 years

xgss-ﬂ‘r

36 years

41 99
3.

41 years

39 Iy

39 years

x

v

Question ID : 9864492912
Status : Not Answered
Chosen Option : --

Q.70 F=gyt F & TR § e WhR & AIGY Y THN F A+ ¥ oA I
ST FE F E TEer FRR F 12 FAegy e FF F 10 R # # we
B s A F W A F BT 4 59 TR F FAergyt AR 8 g =R &
Al # e AT wEe?

Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

Ans x 1.17
< 220
V'3 18
X 416

Question ID : 9864492729
Status : Not Answered
Chosen Option : --

Q.71

Question ID : 9864494345
Status : Answered
Chosen Option : 4




Ans

feu aw e o faan w5 a7 F & & aF s 7§ Sa-d s
A sedfied 31

EAEHT € Hafea® =ifa &1

HefATe:
() SAFER @er ifd a6 8
(1) 8¢ A & Seey gl=lr &1 =nigw)

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:

Honesty 1s the best policy.

Assumptions:

(I) Honest people are policy makers.
(II) Each policy must contain honesty.

1 Fael A (1) Ffgd g1
Only assumption (I) 1s implicit.
teTART (1) 3 (1) &= &1 fed @
Both assumptions (I) and (IT) are implicit.
| e s () @fed g

Only assumption (II) 1s implicit.
| s (1) S () e @

Neither assumption (I) nor (II) 1s implicit.

X2

x

v

Q.72

Ans

10

BYCINE
4
S 9
[ 1—Boys (C) — Athletic
£\ —> Cricket [ — Disciplined

f&&r 7T 37 @ F HGEN, F A AN A A CAAEFH A AT A §
A e off Bord § @1 gfar ¥

io0

S k] 2
4
8 9
[ 1—=Boys (7} —> Athletic
A — Cricket ] — Disciplined

According to the given Venn diagram, which number represents ‘Boys who participate in
athletics and also play cricket™?

X111
X22
X 31
V3

Question ID : 9864493931
Status : Answered
Chosen Option : 2




Q.73 gffemE & av Agsd T=g9re (i 2018 & IUeeey ATFHMAT & 3TTN)
o3 e ( © s Question ID : 9864492407
FiT 7
. . . Status : Not Answered
Who is the newly appointed Governor of Tamil Nadu as of February 20187
Ans Chosen Option : --
HIHAUIH T&ETAET
2

r !

Subramanian Swamy
2 2
Banwarilal Purohit

X 3 F. AT
K Rosaiah
, Fegare FEICED
Satyapal Malik

v

Q.74 e H fopder iEGed | ?
A R ° A el & O Tt IS T ST &2 Question ID : 9864494123

Status : Answered

R+JM2$#QR?+0@7F3 Chosen Option :4

The number of symbols that are preceded by a number in the given expression is .

R+IM2SH#QR™O@TF3

Ans x1_4
V21
<33
K42

Q.75 & 71T geFdedt F HF A & ol 3N Ag T 7 T Fia & AvwS agaeat )
¥ ¥ AT & F B o F9d 8 Question ID : 9864494167
FFae Status : Not Answered
1. O Bel FEAAT £ Chosen Option : --

2. F Hisoal Wiey 181

oS
1. F© o @ed T8 §
2. Fw gleordi Bl g

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.
2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans (1_%ﬂﬁrﬁﬁﬁzﬂﬁrﬁl

Conclusion 2 1s correct.

o, et ot 1w
Conclusion 1 is correct.

, 1 370 2 et weér ot g

Neither conclusion 1 nor 2 18 correct.

1 3T 2 gl Her 2l

Both conclusions 1 and 2 are correct.

x

X4



